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5 TKRE |FEHH HFE1 2Bm | S 33 RC 4 929] A —
6 |[EKRE |FERTHH ESHET1 Bem |[H 2 RC 3 898| Mt = —
7 [ERE LT LI TRET T fBE™ | S 49 srRe@®)| 11 10,363 A [Hozki& — *
8 |EARER |teAHTH P AHT 1 f28m |H 8 RC 3 1.512| it e — *
9 |EARER B ARHTHH FARHT2 BEM [H 7 RC | 3 1,163| Fii = — *
10 [EARI [PeAKHTEH T AHET3 '/EM |H 4 RC | 3 1,021] e — *
11 |EKRE [ KETHIHh PARHT4 2Em | H 4 RC 10 2,746| FTME — *
12 |+RE | #AKETHih He ARHT5 BE™H [H 4 RC | 10 3,701 | FiM = — *
13 [£XRE  |EFIHHh FEFIT 2Bt | S 55 RC 4 1611 A — *
14 |£ARE |FEEEM fi] &1 1 BE™M [S 60 RC | 3 1,259 it = — *
15 |FARHE |G S fi] &2 EBH [S 60 RC | 3 1,259] it &2 — *
16 |EARE |EEBE#h B &B3 #e&m |[H 1 RC 3 1,157| #i = — *
17 |ERE LS B[4 E ®EMm |H 8 RC | 4 1,999| = — *
18 |EKRE |JL{EM# L{E2 BgB™H [ H 10 RC 4 1,314] it E — *
19 |[£ARH |dk{SEth K] #|EM [H 10 RC | 4 2,529| it = — *
20  |EKRE |dbEF# ig17 Z2amh | S 44 RC 4 1,003] A - *
21 |ERE |JEMH JtiE18 281 | S 44 RC 5 1248] A - *
22 |EXKRE |dbiEMH Jtig19 fZ2E™m [S 45 RC 5 1351 A — *
23 |EKRE |JEMH JL{E20 28w | H 26 RC 4 1,852| #Fhit = — *
24 |EXRE |EHHH# =K1 28 | S 43 B 1 219] A —
25 |EXXRE |EHKH# =12 Za8H | S 43 5 F 1 219] A —
26 [£KE |EHREH =13 ZBm | S 43 kg 1 219] A —
27 [£XEH |[ERFEH =14 Z28™m | S 43 & 1 219] A —
28 |EXRE |EHKHH# =15 28 | S 43 B 1 219] A —
29 |EXXRE |EHKHH# =1K6 Za8H | S 43 5 F 1 219] A —
30 [£XREF |EHREH =1K8 ZBm | S 43 kg 1 219] A —
31 [£XKE |[ERFEH =19 Z28™m | S 43 & 1 219] A —
32 |XXRE |EHKHH# =110 feBm | S 43 e 1 183] A —
33 [£XKEFH |[EHREH =1 2B8m | S 43 &5 F 1 183] A —
34  [£XEF |EHREH =12 2Bm | S 43 Lha 1 219] A —
35 |EKRE |EHHEH =t13 Z28™m | S 43 (GRS 1 256] A —
36 |EKRE |EHHH =it14 Z25™m | S 43 B 1 256] A —
37 |EARHER |HEAM A BEm |S 62 RC | 4 1,174| $H = — *
38 |ETARER |HEAM B2 BEm |S 63 RC | 4 1,761 = — *
39 |EXRE |[HEAEHH A3 #am | H 1 RC 3 1,321] $ift = — *
40 |EXKE [ELAHEH B4 ZEEH [S 4 RC 4 1,026] A — *
41 | EXKE |[EAFH EA6 2w | H 11 RC 3 858| FTMHE -
42  |£XKE |EAMHH BEAT gt | H 11 RC 3 858| ¥ = —
43 | XKE  |EAHM EAS ZETH | S 42 RC 4 1,036] A — *
44 | KRER |HEA s RS fEEH [ H 26 RC 3 1,043| = — *
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51  |+KRE | Eif¥aMih s Zam |H 3 RC 3 800| i E —
52 [ RER | EiM#FHh LAFAT #Em [S 35 RC 4 328] A —
53  |EARE | Eit¥ i iR /NS #gah |H 2 RC 3 1,351| Fhift = — *
54 [XAKRE | EMirMib ¥ 28w | H 3 RC 3 800| ¥ E -
55  [XKRER  |SAIJR A Hh SAT TR AT Zam | S 57 RC 3 1,323| #Fif = — *
56 [ KER [SAIREIA#h AT AI2 2Bm | S 57 RC 3 1,323| Filt = — *
57 [£AKE | EJIFEHAMH FIINER1 Z#atH | S 59 RC 3 1,323| #if = — *
58 [XAKRE | EJIFEHEMH LJIEHR2 #em | S 59 RC 3 1,323| #Fiif = — *
59 [ KER |FEFHHMEH FiF 28w | H 6 RC 4 1,254| Fhit = - *
60 |EARE |GRFH#h FH2 Z28™H |H 6 RC 4 1,416] Frf= — *
61 [EKRE [FIHMH FiFH3 f#8m |[H 6 RC 4 1,416| Fimt = — *
62 |EARE |FEFHH FF4 28w | H 7 RC 4 1,335| Fhit = - *
63 [EKRER |FEFHMH FLFHS5 #/em | H 7 RC 4 1,335| it = - *
64 |EARE |FEFHHH FiH6 28w | H 8 RC 4 1,254| it = — *
65 |EARE |FRFHH ikl #E8Hh |H 9 RC 4 1,254| EFifitE — *
66  |EARE |FRFMH B A 2B8m | H 10 RC 4 1,335| Fhit = - *
67 [ KRE |FEFHMH FLFH9 2em | H 11 RC 4 1,335| it = - *
68 [ AKRER |FFHEH FTFH10 Z2hm | H 16 RC 3 817| M E —
69 TARE |EXMHH E3EA f=Bm | S 46 RC 5 1,320 A — *
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NEE= S EETED EX3 2em | S 47 RC 5 1256] A — *
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74 |XKRE |[EXEMHH Ex7 mem | S 48 RC 5 2054 A — *
75 | AKRE [EEMH E3s8 2Em | S 48 RC 5 2054 A — *
76 | AKRE [EEMEH E39 2Bt | S 48 RC 5 2,054 A — *
77 |[EXRE [EXHH EE3N) =8t [ S 48 RC 5 2685 A — *
78 |XKE [EFEMH EE 30 mem | S 48 RC 5 2349 A — *
79 | AKRE [EEHH EE3IR Zeh [ S 49 RC 5 2449 A — *
80 |ETAKRE [EXMH EX14 #8h [ S 50 RC 5 2,395 A — *
81 |EAKRE [EXHi EXI15 2Bm | S 50 RC 5 2,395 A — *
82 [ KE [EFMH E3X16 f=em | S 53 RC 5 2014 A — *
83 | AKRE [EXH Ex17 f#eh [ S 51 RC 5 2531 A — *
84 | AKRE [EXHH EX18 fmem | S 51 RC 5 2531 A — *
85 |EARE [EXEi EX19 2Bt | S 51 RC 5 2531 A — *
86 |EXARER [EXMHih E3¥20 fEEH [ S 52 RC 5 2014 A — *
87 |EKRE [EEH EXE21 f2eh [ S 52 RC 5 2014 A — *
88 |TAKRE [EXHi Ex22 fmem | S 53 RC 5 2014 A — *
89 |TAE |[ZXEH ZEXx23 =BT | S 54 RC 5 1343 A = *
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90 [ KE [EFXMHH EETY f2B&h [ S 54 RC 5 1,343 A — *
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92 |XKRER [FEXMih E3¥26 fBE™ [ S 55 RC 3 359] A —

93 | KE [EXHi E3x27 f2Em | S 55 RC 3 867] A —

94 |EKE [EXHi E3x28 2Bm | S 55 RC 3 434 A —

95 |ETAKRE [EXMH E3x29 2B8m | S 55 RC 3 289] A —

96  |TAKRE [EXHH E330 f#8™H [S 55 RC 3 578] A —

97 [XKRE [EXHH EEX] 28 [ S 55 RC 3 723] A —

98 [XAKRE |EZXMHi EEXY) f2Em | S 55 RC 3 603] A —

99  |EAKRE [EXMH EE XK Z2Bm | S 55 RC 3 603] A —

100 [ERE [ZEXMiH Z=3%34 f2BH | S 56 RC 3 867| Fiit = —
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103 |+ AKRE [EEMH EEX) f#eh [ S 56 RC 3 723| I E —
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107 [£KE |[TER LM LR 12 #em | S 57 RC 3 578| FTHE —

108 |XARHE |FERWLMAH ER 13 Z2a8m | S 57 RC 3 578| #TMHE —

109 |EKRH |FERWMAH 1ER 4 2Bm | S 57 RC 3 578| FhifHE —

110 |XKRE |fERWLMAH TER W5 #e&tm | S 57 RC 3 434| FRifHE —

111 |EKRE |fERWLMAH 1R L6 f#Bem | S 58 RC 3 434| FTE —

112 |XRE |FERWLMAH ER 17 fZ2E™H | S 58 RC 3 578| #iMHE —

113 | KRE [fRIREH: B 1 #E8Hh |[H 27 RC 4 1,608| Fif = — *
114 [ RE (SRR B2 fBEWH | H 27 RC 4 1,244 it E — *
115 | EARER |BRIR A BRiR3 Be™M |H 27 RC | 4 1,608| #ifit = — *
116 |EARE |[dLRXH#h LR X 22h | H 28 S 3 1,889| Fhit = — *
117 |ERE |JERX JLiRX2 22h | H 28 S 3 2,145| FRTHE — *
118 |+ KR#E [JLRX i LR X3 Z2H | H 28 S 3 2,169| FAMHE — *
119 |+KRE [JLRXH#h JLiRX4 Z22H | H 28 S 3 2,319| FMHE — *
120 |ERHE |dLRX LR X5 Z28Hh |[H 28 S 3 1,416| FTE — *
121 [£KE [JLRXHA#h LR X6 #Bem | H 28 S 3 2,086| FTHE — *
122 [£KE [JLRXHAHh JLiRX7 ZE2h | H 28 W 2 82| FhifE —

123 |XKRE [JLRXH#h LR X8 Z22hm | H 28 W 2 82| Mt E —

124 [X£KRE (LR X [HAih JLRX9 =Em | H 28 W 2 82| #riME —

125 |EARE |[JLRXH#h JLRX10 22h | H 28 W 1 135| #ifHE —

126 |+ RE [dbLR X E#b JLRX11 fmem | H 28 W 1 135| $ATHEE —

127 |+ REF |dLRXHh JLRX12 #/em |H 28 w 1 135| #ii = —

128 | ERER [dLRX[H i LR 13 BEm | H 28 W 1 135| #if = —

129 | K& [dLRXH#h LR 14 fZ2EWm | H 28 W 1 135| Fhit = —

130 |EKRE [JLRXH#h JLiRX15 ZE2H | H 28 W 1 135| FifHE —

131 |ERE [JERXH#h JLIRX 16 2w | H 28 W 2 82| Mt E —

132 |EKRE [dLRXH#h LiRX17 2Em | H 28 W 2 82| Mt E —

133 [ AKRE [JLR X [HA#h JLiRX 18 2w | H 28 W 2 82| #riME —

134 |EARE |dLRXH#h LiRX19 22h | H 28 W 2 165| ¥ E —

135 |+ RE [dLRX LR X 20 28 | H 28 W 2 165| ¥ifHE —

136 [E£KRE [JLRX Hh LR X 21 Z2H | H 28 W 2 165| it = —

137 [ RE [ RXH#h bR 22 Z28Hh |[H 28 wW 2 165| FhiltE —

138 [ER#E [JLRXHAHs JLiR X 23 fZEWm | H 28 W 2 165| Fhit = —

139 |EKRE [JLRXH#h JtiRX24 28w | H 28 W 2 82| FhiME —

140 |ERE [dLRXH#h LR X 25 f2Em | H 28 W 2 82| FTtE —

141 [£KRE (LR X b LR X 26 2w | H 28 W 1 145| = —

142 |XRE |[dLRXFH#h iR X 27 22h | H 28 W 1 145| $ifHE —

143 [£RE [dLR X [HA#h LR X 28 22h | H 28 W 1 145| $ifHE —

144 |+ KE [JLRX LR X 29 28w | H 28 W 1 147| Fhim = —

145 |+ KRE [JLRXH#h JLiR X 30 2B8m | H 28 W 1 145| Fimt = —

146 [XKRE  [dLR X Hih JtiR X 31 22h | H 28 W 1 145| FifE —

147 [£KRE [JLRXHA#h LR X32 ZE2H | H 28 W 1 145| i = —

148 |EKRE [dLRXH#h JLiR X33 ZE2h | H 28 W 2 82| FhifE —

149 |ERE [JLRXH#h LR X34 f2Em | H 28 W 2 82| FTMtE —

150  [XAKRE [dLR X [HAih LR X35 =Em | H 28 W 2 82| #riME —

151 |EARE [dLRXH#h LR X 36 22h | H 28 W 2 180| ¥ E —

152 |XARE |dLRX JLiR X 37 =em | H 28 W 2 180| ¥FifHE —
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154 |ERHE |dLRX JLiR X 39 Z28Hh |[H 28 wW 2 180| il & —

155 | XRE [dLRXH#h JLiR X 40 fZEWm | H 28 W 2 180| Fhit = —

156 |EARE [dLRXH#h JLRX 41 28w | H 28 W 2 180| Fhi = —

157 | RE [JLRXH#h LR X 42 f2Em | H 28 W 2 82| FTMHE —

158 |EARE [dLRXH#h JLiR X 43 2w | H 28 W 2 82| It E —

159  [XAKRE [dLR X [HAi#h bR X 44 2Em | H 28 W 2 165| M= —

160 |EARE |dLRXH#h LR X 45 22h | H 28 W 1 135| #ifHE —

161 |EKRE [JLRXH#h JLiR X 46 28 | H 28 W 1 135| #iifHE —

162 [ RE [ RXH#h bR X 47 ZeH [ H 28 wW 1 135| #ifE —

163 [ RE [ RXH#h iR X 48 Z#2H | H 28 wW 2 82| M= —

164 |EARE [dLRXX A LR X 50 f22m | H 30 W 3 2,468| FTMHE — *
165 |EARE [JLRXH#h JLiR X 51 22m | H 30 W 3 2,468| FTMHE — *
166 | KER [dbchs[Mih g #EeHh |[H 28 RC 4 1,909 #rif = — *
167 [T ARE |t LFMie P A:EY #EeHh |[H 28 RC 4 1,590| FiE — *
168 [TARE [JbehfRih e 3 28t | H 28 RC 4 1,590| Fi = — *
169 |EARE |fBHALHH FRAA L ZAMTH[H 28 W 1 148| FifHE —

170 |E£ARE |#BHALHH EAALL2 ZARMM[H 28 W 1 148| $iifHE —

171 [£RE  [E#ALLFE#h B3 —AR#m| H 28 W 2 175| $iifE —

172 | RE [#E#ALLEH EHALL4 —AWH|H 28 wW 1 148| FhilHE —

173 |ERE | RFALLS AW H 28 wW 1 148| FHilE —

174 [ KE [#EHALLAHb 1EAALL6 ZAMTH[H 28 W 1 148| FifHE —

175 [X£KRE  [4E4ALL M #h RHELLT —AR#H|H 28 W 1 148| FifHE —

176 | ARER |4R#RLLE M 4% LL8 —A#WTH|[H 28 w 1 148| #iH= —

177 [£KRE  |4E4A LU #b R ZAWTH| H 28 W 1 148| FifHE -

178 [ KRE  [#EHALL M b B0 ZAWTH|H 28 W 2 175| #iifE -

179 | K& [{B{FLEAH B —AWH|H 28 W 1 66| FTME —

180 [EAKRE |4E4ALLH#b EHELL12 —AWTH|[ H 28 wW 1 66| M= —

181 [ RE [E#LLE# EMALL13 AW H 28 W 1 66| M= —

182 [ KRE [4E4ALL M #h B4 ZAW™| H 28 W 1 66| FriME —

183 | EARHER [AR4ALLIE i tEAALI15 AT H 28 w 1 66| it = —

184 [ RE [AE4"ILF#h 1RAALL16 —AWH[H 28 W 1 66| it = —

185 |+ RE [#R4ALLIE#b BT —AWH|H 28 W 1 66| 2t = —

186 [t AH R 1E4ALLI18 ZAM|H 28 W 1 148| #MHE —

187 [XKRE [#E4ALL M b HEHLL19 ZAWTH|H 28 W 1 66| Fri = -

188 | AKRE |fB#ALFHH EMALL20 —AR#m| H 28 wW 2 175| #iifE —

189 |EAKRHE | EMLL21 —AWH|H 28 W 2 175| i = —

190 [EAKRE [4E+"LLE#b 1BMALL22 —AWT|H 28 W 2 175| #il = —
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191 |EARER [ARHALLE M HRAA1LLI23 —AWh[H 28 W 2 175] Friit = —

192 | AKRER |4EMRILE M iRAALL24 —AXWmd[H 28 W 2 175 T E —

193 |TAH |EMAILEH HRAALL25 —R#r[ H 28 W 1 148 T = -

194 |TARH |EMAILEH HR4A1LLI26 ZARh| H 28 w 1 148| FHE —

195 |EARER |IRAAILE M RAALL27 —A#Md[H 28 w 1 148| #rifit = -

196 | EKRER [AR4ALLIE i 1A% L1128 —AWm[H 28 W 1 148| FME —

197 | EKRER [AR4HALLE i tRAALL29 ZAWH[H 28 W 2 175| FifE —

198 | ERER [AR4ALLIE i 1B A& 30 AT H 28 W 1 148| It E —

199 | EARER [ARHALLE M AR AT H 28 w 2 175| A= —

200 |EAHER [ARAALLIME) HRAALL32 —RHAT[ H 28 W_| 1 148 Hiiid = —

201 |ER#E [ARAALLE 1R AHLL33 — AW H 28 W 2 175 T & —

202 | EAHE [ARAALEM HRAALLI34 —R#r[ H 28 W 1 148 T = -

203 |+ARER [FRAKILE] RARLL35 ZAM|H 28 W 2 175| it = -

204 |EARE [ARAALEH 1E4A1LLI36 AW H 28 w 1 148| #HE —

205 [XRER |4EMALLEH FEMALL3T —ARH[H 28 w 2 175| & —

206 [EARHR |RARFLLIE M 1R 4% 11138 AT H 28 W 1 148| It E —

207 [EARHER |ARAFLLEM 1R AALL39 AT H 28 w 2 175| A= —

208 |t R# [HEHM a1 ZAWH|H 28 S 3 2,490| FTHE — *
209 |+KRE [AEHH 882 A H 28 S 3 2,969| FiiE — *
210 |EAH [AEHH fE3 AT H 28 S 3 2,787| FiHE — *
211 |TAE AR RE4 — AT H 28 S 3 2,787| Bt — *
212 |£REE |BEMM BES —A#Ti| H 28 s | 3 2,698 i &= — *
213 [+ARE [ HEHEH 526 —Addi| H 29 S 3 2,875| #iit = — *
214 |+ K& [BEREH BRI JIMZET | H 28 W 2 129| it &= —

215 |+ ARHE [BERMH EER2 JIMRET | H 28 w 2 129| B = —

216 |EARED |EHR[H E2IR3 JIMRET | H 28 w 1 120| i = —

217 |+ K& [EEREHH E2R4 NIRRT | H 28 W 9 127 i E —

218 |T K& [EXREH EER5 JIEHET | H 28 W 2 159 Fit = -

219 |£AHE [ERMH M ER6 JIMRET | H 28 W 1 120 it = —

220 |EAHE [EIRMH B R7 JIMRET | H 28 W 2 159 il = -

221 |XAE [BERMH M E#R8 JIMRET | H 28 W 2 129| it = -

222 | RER |EEREH B¥iR9 JIMRET | H 28 W 2 127] = —

223 | RER |EEREH BER10 JIMRET | H 28 W 2 127 i = —

224 |XKRER |BERMHH BER11 JIHRET | H 28 W 2 159| AT E —

225 |XKRER |EERMHH BER12 JIHEET | H 28 W 2 159| FATHE —

226 |tAE [EERFEH B2R13 JIRAT [ H 28 w 2 159| $iHE —

227 |T K& |[EEREH EER14 JIEHET | H 28 W 2 128 Fit = -

228 |EAHE [EERMH M E#R15 JIMRET | H 28 W 2 128 i = -

229 |+ REF [EHREH E2R16 JIFRET | H 28 W 2 156| #riirt &= —

230 | RER |EEREH BR17 JIRET | H 28 W 2 156| $Afi = —

231 |+ K& [BEREH E#R18 JIMRET | H 28 W 1 119] #AMHE —

232 |XKRER |BERHH BER19 JIHRET | H 28 W 2 156| FATHE —

233 | KRER |EERMHH B¥;R20 JIHRET | H 28 W 2 156| FATHE —

234 |+ ARE [EERFEH EEiR21 JIRAT [ H 28 w 2 156 FTTHE =

235 |t+ARHE [EERFEH E2iR22 JIRAT [ H 28 w 2 156] EiH = —

236 |EAHE [EERMH M E#R23 JIMRET | H 28 W 1 119] FATHE —

237 | RER |EEREH BER24 JIIRET | H 28 W 1 119| it = —

238 |EAHE [EERMH E#R25 JIMRET | H 28 W 2 158 i = -

239 | RER |EEREH BEiR26 JIRET | H 28 W 1 121] AT E —

240 |+ REE [EEREH BR27 JIMZET | H 28 W 2 158| it = —

241 |XKRER |BERHHh B¥/R28 JIHRET | H 28 W 2 157| FATHE —

242 |XKRER |BERHH BER29 JIHEET | H 28 W 2 157| FATHE —

243 |+ AR [EERFEHh B2iR30 JIRAT [ H 28 w 2 128| FiHE —

244 [T ARER [EEREHb B2R31 JIMRET | H 28 W 2 128] A= —

245 | EAHE [EERMH M E#R32 JIMRET | H 28 W 1 121] #HHE -

246 | RER |EEREH BE¥IR33 JIRET | H 28 W 2 157| it = —

247 | RER |EEREH BE/R34 JIRET | H 28 W 2 157| $AfHE —

248 | X AHE [BEERMHh ER35 JIMRET | H 28 w 2 157| Fi = —

249 |TRER |EEIRE b B%/R36 JI{ZET [ H 28 W 1 121 FrmE —

250 |[XKRER |BERHHh E%R37 JIHRET | H 28 W 2 158| FATHE —

251 [XKRER |BERHHh B¥;R38 JIHEET | H 28 W 2 157| FATHE —

252 |t ARE [EERFEHh B2/R39 JIRAT [ H 28 w 2 158| = —

253 | AHE [EERMH M E#iR40 JIFRET | H 28 W 2 157 FAME -

254 [T ARER [REAH E —AWTH| H 29 RC | 4 3,401 it = — *
255 |T K& |FEHEH HE1 — A H 29 RC | 4 2492| T = - *
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256 |+ ARE |SHHh 51 B [ S 62 RC | 8 7.379| #hifit = - *
257 |+RE |SHH 52 Buh [ S 63 RC | 6 3,825| M E — *
258 [+ ARHER |SBEHM &M A | H 7 RC | 3 1,020 i E= — *
259 |TKE |EHEMEH &H2 L | H 9 RC 4 1.361| i E — %
260 |+ REE | EEH B H3 ELm | H 7 RC | 6 3,079| ¥t - *
261 [+ARER St Eh Z A Bt | H 4 RC | 4 2,421 Fiift = — *
262 | RER =it ZHhmE2 Ml |H 4 RC 2 580| ¥ E —

263 | ARER =i ZHm3 Alum [H 4 RC 3 602| FritE —

264 |XKRER |SEEHM =1 Bt [H 8 RC 3 959 it = —

265 |XKRER (K= T2 Bt | H 8 RC 3 1,586| Tt = — *
266 |t KRE |E=HH =3 A | H 11 RC 3 1,451 Fhit = — *
267 |TRE |E=Hih =4 #um | H 11 RC 3 999| FrMHE —

268 | KRER |YEEMHM £=5 B [ H 13 RC 3 512| Frit = —

269 |[XAKRER (K= =6 Bt | H 13 RC 3 533| $AHE —

270 | KRE (= =7 it | H 15 RC 6 2,350| FTE — *
271 | KRE |E=Hih 5£=38 AUt | S 45 RC 5 1337 A — *
272 | KRE |E=Hi 5=39 ™ | S 50 RC 5 2531 A — *
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564 |TKRE [EEHH BE&2 sEENm| S 48 RC | 5 1543 A — *
565 [TARE |[FEEEH BE&3 sgEnm| S 49 RC | 5 1,796] A — *
566 |t A& |EEMHH E&4 SEEmm| S 49 RC 5 2266 A — *
567 |T K& [EEHH B&5 KFEMH| S 49 RC | 5 2,395 A — *
568 |t K& |/\BHETEHh J\BHT11 sEEnm| H 16 RC 3 1,926 i = — *
569 [XARER |/\HETH# J\BHT12 sgEnm| H 19 RC 3 1,782| #it = — *
570 [ RER [HRHT it RHET12 sigENm| S 38 RC | 4 965 A —

571 | KREB |#RETE#b #XET13 sgEnm|H 3 RC 4 1,704| Fii = — *
572 | ARED |#RETH i xET14 sgEnm| H 4 RC | 4 376| #ii = —

573 | KRER |#ZETEIH: #XET15 sEmm|H 5 RC 4 1,272] $iHE — *
574 [ RED |#NGEETEH {EVE T 5 s@Enm| H 10 RC | 4 1,382 FHE — *
575 |t RHR |fEIAEETE {HIAEHT6 sEEndg| H 12 RC 3 538| A= —

576 |XAHE |[FSEHTEM ST s@ENT| S 36 BE | 1 136] A —

577 |X K& [FHHEE F 5 HT2 SFEMH| S 36 BHE | 1 68 A —

578 [t AHR |HEMHMh BE1 sgEpm| H 3 RC | 3 861| it —

579 [+ARE |HEHHH HE2 sigEpm| H 3 RC | 3 788| Fifit = —

580 |EA#E [BEMM BE3 sgEnm|H 3 RC | 3 831 it &= —

581 |t AE |HSHM HE54 spEwm| H 3 RC | 3 812| #ii = —

582 |t AE |HSHHh HE5 s@Enm| H 4 RC | 3 836| Hilit = —

583 [+ AR |HEH HE6 sigEpm| H 5 RC | 3 563| Frifit = —

584 [tAAR |[BHEHM H&7 sgEnm| H 5 RC | 3 1,116 FiEE — *
585 |TRER [ FHEEM it xt B AR 1 sgEnm| S 51 RC | 4 1611 A — *
586 [T AHR [ SEEMH xt B 882 s@Enm| S 51 RC | 4 1,611 A — *
587 |EARE | EERE xi 5 BE3 fiEENT| S 51 RC | 4 1.611] A — *
588 |EAH |[HELERM xt 5 BE4 sEENm| S 51 RC | 4 1,074 A — *
589 |TRER [ FHEEM xi B 8BS sgEnm| S 51 RC | 4 1,074 A — *
590 [T AHR [ SEEMH xt 5 BB 6 s@Enm| S 51 RC | 4 1,074 A — *
591 |+ARE | EERE xi B8R 7 £EENMT| S 53 RC | 4 1,611 A — *
592 [ AER [ SEEMH xi B 8E8 sgENm| S 53 RC | 4 1.611] A — *
593 [EAE |HEEFM xt B 8H9 sEENt| S 54 RC | 4 1,074 A — *
594 |TRE [ EEEM xt BB EE10 SFENT| S 54 RC | 4 1611 A — *
595 |:RER |SRETHIH S HT 1 SEEMH| S 55 RC | 4 1,074 A — *
596 |+ AHER [SRETMIHh i HT 2 KEENT| S 55 RC | 4 1,074] A — *
597 |+ ARE [SRETEIH B T3 KFENT| S 56 RC | 3 1,287 = — *
598 |+ REF |SRETHEIH imAT4 SFENH| S 56 RC | 3 1,287] #iifit = — *
599 |:KE |SRETHIM SRATS SFEUMT| S 56 RC | 3 1,323| Fii = — *
600 [ ARHR |SRHTH it SRHAT6 £FFENH| S 56 RC | 3 1,323 it = — *
601 |+ ARE [KiFMHh RiT1 KEEWT| S 58 RC | 4 644/ i = —

602 |EAHE [KiFMith KiE2 siEEmum| S 58 RC | 4 644| il = -

603 |+ REE [KIT[HHh A3 sEEmm| S 58 RC | 3 441| FrimtE —

604 [T AHR [KiTH i Kif4 sigEm| S 58 RC | 3 462 Fifit = —

605 |ERE [KITHEH A5 SFEMH| S 59 RC | 3 452| FlHE —

606 |EAH [KiFMith KiT6 sEEnm| S 59 RC | 3 462| Fil = -

607 [EARAR [KITH M KiF7 sigEnm| S 58 RC | 4 623 Fifit = —

608 [T AHR [KiT[Hith K1¥8 sigEm| S 58 RC | 4 623| Fifit = —

609 |EARE [KITHEM Ki¥9 £EFENH| S 58 RC | 3 441| T E —

610 |+ ARE [KIFMH#h KiT10 KEENT| S 59 RC | 4 623 i & —

611 [F+ARE [KITH A1 SgENH| S 58 RC | 4 644| = —

612 [T AHR [KiTH Ki¥12 sigEpm| S 58 RC | 4 644/ Fifit = —

613 |TRE [KITHEM Ri¥13 £EFEMH| S 58 RC | 4 644| M= —

614 |+ ARE [KIFM# RiT14 £FENT| S 60 RC | 4 623 i & —

615 |EAH [KiFMith A1F15 sEENTH| S 60 RC | 4 644 Fit = —

616 |+ ARZE [KITHHh K1i¥16 SFENH| S 59 RC | 4 1,986 Fifit &= — *
617 [EAHR [KiTH Ri¥17 sigEnm| S 60 RC | 4 1,009| Hriiit 2= — *
618 |+ ARE [KIFMH#h Ai¥18 fgENH| S 60 RC | 4 2,379 it = — *
619 |TKR&E [InRHHh wR1 SFENH| S 61 RC | 3 1,408| it = — *
620 |+ RE [InFMHh 2 siEmm| S 61 RC | 3 1,656 it = - *
621 |+ ARH [faRMEH M3 sgENm| S 62 RC | 4 1,879 it = — *
622 |+ K& [InREH w4 SEENMH| S 63 RC | 3 1,397| #ifit = — *
623 |EARE |taR M M5 sipEmm| H 1 RC | 3 1,397| & — *
624 |+ARE [faRMEH K6 sigEnm| H 2 RC | 4 1,253| it &= — *
625 |+ARHE [faRMEH MET sgEnm|H 5 RC | 3 1,398 i = — *
626 |+ AE [tAFMEH &8 sgENt|H 6 RC | 3 1,398| FE — *
627 |+ARE | ABTH 3 A HT1 sgEum| H 8 RC | 3 1,077| #hift = — *
628 |+ AHE |7 AHHETEM G A #T2 siEnm| H 8 RC | 4 1,185| FHE — *
629 [tAHR [H AHETMEIH : A HET3 sgEpm| H 9 RC | 4 682| Fifit = —

630 |+AREE |F A HTHH F R #T4 sEnm| H 10 RC | 4 1,443| FE — *
631 |+ARE |FH ABTHEH F A ET5 sogEnm| H 11 RC | 4 1,300 #rii = — *
632 |+ AREE |EAkA FHh AR A i EZAM|H 11 RC | 3 1,091] FiHE — *
633 |ETAHR |maHEMi X vlsY) EZHM|H 12 RC | 3 1,034] Friit 22 — *
634 |+ARER | )IIETE o 1B 1 ipEnm| H 26 RC | 4 1,809| HHE — *
635 |TARH [FHHEE FHHET sgEnm| H 27 RC | 4 3,943| #ifit = — *
636 |tAH |[FEHATHM FHMET2 sEEnm| H 26 W 2 355| FiH A= —

637 [tARER |[FHETHH F HHT3 sigEnm| H 26 W 2 355/ Fifit —

638 |TARE [HALEH AL sFEim| H 28 W 1 70| it = —

639 |+ ARGE |t i k2 2#EHm| H 28 W 1 70| FE —

640 |+ ARE [HALEH L3 sFEmm| H 28 W 1 70| #iirt = —

641 [T ARE [HALEIH e sFEmm| H 28 W 1 70| FiE —

642 |t AE [HILFE el sEum| H 28 W 1 73| Fi = —

643 [EARAR [HdL M L6 sigEnm| H 28 w 2 175| Fiiit = —

644 |TREE [HALEIHh kL7 sgEmm| H 28 W i 86| Tt = -

645 |+ ARER AL L8 sigEnm| H 28 w 1 86| #iit &= —

646 |TARE [HALEIH A sigEmm| H 28 W 1 86| Filt = —

647 | KRE [HALEH kIt 10 sFEinm| H 28 W 1 86| it = —

648 |EARED |JHALH it D EIAN spEim| H 28 w 1 76| FiitE —

649 [T RS [HALEH WaL12 sigEnm| H 28 W i 76| #ifit &= —
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650 [ ARER [ALHM L13 sigEpm| H 28 W 1 76| Fi = —
651 |EARED |3t k14 ipFnm| H 28 w 1 76| FiiE —
652 |+ ARE [HALEIH AL 15 sFEmm| H 28 W 2 175| #iint &= —
653 |t ARED [HALEIM 16 2gEwm| H 28 W | 2 175 Friit = —
654 |EAE |SRAb i AL 17 sEnG| H_ 28 W[ 2 175 Bt = -
655 |EAE |t 18 sEEnm| H_28 W[ 2 175 St =
656 |+ ARHER [SHIL[Eh AE19 sigEnm| H 28 w 1 76| i 5= —
657 |ERE [HALEH 44620 sigEmm| H 28 W 1 I E —
658 [T ARER [HALEHHE 21 sEEmd| H 28 W 1 76| Fit = —
659 |+ AR |HEEMM BE1-1 spEnm| H 27 w 2 82| il = —
660 |TARE |[HEHEH BE1-2 sgEmm| H 27 W 2 82| it = -
661 |+ARE [HFEEM BHEE1-3 sigEnam| H 27 w 2 82| it = —
662 |+ARED |HEMHH B 5E2-1 sipEnm| H 27 w 2 82| #iiit = —
663 |+ AR |HEEMM B 5E2-2 sEnm| H 27 w 2 82| il = —
664 |TARE |[HEHEH HE2-3 sgEmm| H 27 W 2 82| it = -
665 |+ARE [HFEEM B5E2-4 sigEnam| H 27 w 2 82| it = —
666 |+ARED |HEMHH B 5E3-1 sipEmm| H 27 w 2 82| it = —
667 [TAHR |[HpEMh HE3-2 sgFEmm| H 27 W 2 82| FiM = —
668 |+ A& |[HSEHEM HE3-3 sgEmm| H 27 W 2 82| Fifit &= -
669 |EAHE [HLEMH B 5E3-4 sigEnm| H 27 w 2 82| M= -
670 |E+ARED |HEMHH B 54— sipEnum| H 27 w 2 82| it = —
671 [T AHR [HpEMth H[E4-2 sgFEmm| H 27 W 2 82| FiM = —
672 |T K& |[HEEH HE4-3 sgEmm| H 27 W 2 82| Fifit &= -
673 |E K& [HAEHEH HE4-4 sgEmm| H 27 W 2 82| it = —
674 |EARED |HEMHMH B 5E4-5 siEnd| H 27 w 1 66| il = —
675 |T K& [ArEHEH EE4-6 sgEmm| H 27 W 1 66| FME —
676 |T K& |[H5EEH HE4-7 sgEmm| H 27 W 1 66| Fifit &= -
677 |+ARE [HFEEH B E4-8 sipEmm| H 27 w 1 66] BTt E —
678 |EAHE [HEMM B 5251 sigEnm| H 28 w 1 68| #ifit = —
679 |EARE [HEMH B E5-2 sipEnm| H 28 w 1 68| #iit = —
680 |EAE [HEMH HE5-3 sipEum| H 28 w 1 68| it = —
681 |EAE [HEMH B 5254 g H 28 w 1 68| it = —
682 |EAE [HEMH BHE5-5 sipEim| H 28 w 2 82| #FMt = —
683 |EAE [HEMH B [E5-6 sipEim| H 28 w 2 82| #it = —
684 [TAHER [HpEHth HEE5-7 sigEnm| H 28 W 2 82| Fiit &= —
685 |TAR& [HLEHEH H 5E6-1 sgEmm| H 28 W 1 68| Filt = —
686 |+ ARE [HFEEH B [E6-2 sigEnm| H 28 w 1 68| #ifit = —
687 |+ARE [HFEEH B E6-3 g H 28 w 2 82| M= —
688 |EAHE [HEMH B526-4 g H 28 w 2 82| it = —
689 |+AE [HEMH B 5265 g H 28 w 2 82| FMt = —
690 |EAE [HEMH B [£6-6 sipEim| H 28 w 2 82| it = —
691 [TAHR [HpEHh HE6-7 sgFEnm| H 28 W 1 68| it = —
692 [tAE [HrEMH B 526-8 siggnm| H 28 W 1 68| #ifit = —
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693 |+ ARE [/NEFMEIHh INEF WE® | H 11 RC | 3 858| Hifif = -

694 |+ARE [/NEFMEIHh NP2 HEM | H 12 RC | 3 858| Fiit = -

695 |EAHE [/ErMEh INEF3 #HEM |H 15 RC | 3 999| #iit &= —

696 |TARE |HORWEHIM HDH1 tHET [ S 63 RC 4 1,200| i E — *
697 [XKRE |FOAEIM HDA2 fHEWH | H 1 RC 4 1,222| i = — *
698 |t ARER [{hETEHh fthHT 1 mfEEM| S 50 RC 5 2,395| A — *
699 |+ ARE [SiEih B FMEET| S 59 RC | 3 1,381] #itE — *
700 |t ARE [SHAHM =2 FatEET| S 60 RC 4 1,211] #FFif = — *
701 | RE [SHEM =3 mtEET| S 61 RC 3 1,354/ #ifit 5= — *
702 |ERE MR INIES mEEMm|H 4 RC 3 894| it —

703 | EARHE [/M)IFEHH NI pEET|H 5 RC | 3 894| #it = —

704 |FARE [AVIIFEE 11752 FAAEH|[H 5 RC | 3 894| FiH = -

705 |ERER | EETREHY LHET1 EEEm| H 28 RC 4 2,492| #hiE — *
706 |t ARHA | EETHEIMh L HT2 FtEET| H 28 RC 3 1,869| it &= — *
707 |£R#A | EETEIMh L HT3 FatEET| H 28 RC 4 2,168| #ifit &= — *
708 |EAREE | b ETH L ET4 FMEET| H 28 RC | 3 1,431 FHE — *
709 [EARER | EHTHH L HT5 mtEEm| H 28 RC 4 1,907 FriftE — *
710 [EARER | EHTHIH EHT6 patEEm| H 28 RC 4 2,168| it E — *
711 [EARER | EHTHIH L HT7 patEEm| H 28 RC 4 2,168 Frifit = — *
712 |+ K& |[JC/EEHb |45y EAEET| H 28 RC 3 2,503| FHtE — *
713 |+ K& |JC/REFEHY JLlE2 EEEm| H 28 RC 3 2,503 FhiE — *
714 [ RE |JtREH E[AEE! EMEET| H 28 RC 3 2,503 FiE — *
715 |ERER |JC/REE#Y dLim4 BEEEm| H 28 RC 3 2,503| Fit = — *
716 [EARHER [db[R[EHs ALIR5 FEEm| H 28 RC 3 2,503| FiMt = — *
717 | K& [dEEMEM AL/ 6 FatEEm| H 28 RC 3 2,503| FHfitE — *
718 | REP |dC/FE s ALIR7 patEEm| H 28 RC 3 2,503| it E — *
719 [EARER [dLIREHs dtL[=8 patEEm| H 28 RC 3 2,503| = — *
720 [EARER |4 il ptEEm| H 28 RC 4 2,985| = — *
721 [EARER (4 4 ith2 FEEEm| H 28 RC 4 1,971 FFfE — *
722 |+ RE [4HEFEH 443 patEEm | H 29 RC 4 1,907 #rifit = — *
723 |+ RE [4HFEH H4ih4 FEEm|[ H 29 RC 4 2,555| Fi = — *
724 |+ RE [4HFEH 445 mEEm| H 29 RC 4 2,880| = — *
725 |ERER |4 Y 46 EHEEm| H 29 RC 4 1,907 = — *
726 |TKER | EAMT Y FaET 1 FEEEm| H 28 RC 5 4,249| $TH = — *
721 |EAE |[FARTEIHE FA T2 ST H 28 RC | 5 3.923| FHE — *
728 | KRER | EAETE iy FIAT3 patEEm| H 28 RC 5 3,923 Fhifit = — *
729 |[LRAR [EARTHM T4 AT H 28 RC | 5 3,923 #ifit = — *
730 |+ ARER [EETEH FAHTS FfESH| H 28 RC | 5 3,923 Hhiint &= — *
731 [EARER [FEETHHE FEHT 1 FtEET| H 28 W 2 168 Fiif = —

732 | REAR |[FEETHEMh FE T2 FtaEm| H 28 w 2 168| HiH = —

733 |ERHAR |FEETHEIMh FEET3 FmtEEm| H 28 w 2 168| M= —

734 |EAREE | FHETH] i e HT4 FtEST| H 28 w 2 168| Frifi = —

735 |ERER | FRHT i FaHT5 FtEE | H 28 W[ 2 168 Bt = -

736 |t AED |7 FaHT6 EAEET| H 28 W[ 2 168| 2t -

737 | E AR |PRHTHH FaHT7 mfRET| H 28 W[ 2 168] HTiH & =

738 |+ KER | FHETR#b FHHET8 EAEET| H 28 W 2 157| #AfH = —

739 |t R#E [FEETHEIMh FEHTI mtEET| H 28 w 2 157 #ifit o= —

740 |t RER |[FEETHEIMh FEET10 FEtEm|( H 28 w 2 157| #iHE —

741 [ ARER [FEATHIHh FaHT11 EtEEm| H 28 W 2 157 | #ifit &= —

742 [T ARER [FEATHIHh FEHT12 ftEEm| H 28 W 2 157| #Fit = —

743 | KRER |FEETEIH FHHT13 EMEm| H 28 W 2 157 = —

744 [EAKRER | FEHETH M FafT 14 mEET|H 28 w 2 157 #ift = —

745 | KER | FAETE iy FEHET15 EEETH| H 28 W 2 157] FrmtE —

746 | T K&R | FEET iy FEHET16 FEEEm| H 28 W 2 157| FritE —

747 | KRER |FEETEIHD FaET17 EAEET| H 28 W 2 157| AT E —

748 |t KER | FHET#Y FaET18 EEEm| H 28 W 2 128| FATHE —

749 |ERE |[FEETHEIMh PEET19 FEtEm| H 28 w 2 128| FiHE —

750 |t ARHAR |[FEETHEMh 75 HT20 FmtEEm| H 28 w 2 128| #iHE —

751 |EORER | FHHETEH FaET21 FAtESM| H 28 W 2 128| FiiHE —

752 | KRER [FEETEIHh FHHET22 FEHEETR|H 28 w 2 140| #FE =

753 | KRER [FEETEih FHHET23 FAHEEMR|H 28 W 2 140| #FE =

754 | EARER |PRHTH FaHT 24 mfAEM| H 28 W[ 2 120] HiH & =

755 |t AR#E [FEETEM 7725 FEtEm| H 28 W 2 140| FTTHE —

756 |t ARH [TALEMM TALiaT LB | H 29 W 2 164/ #ifit 2= —

757 | R# [TALEMHM TdL82 BT | H 29 W 2 164/ #ifit 2= —

758 |tAR# [TALEMM IERCE] LEFET | H 29 w 1 128| FiHE —

759 |ER# [TALEMM TdtiB4 LEET | H 29 w 2 164) FiHE —

760 [EARHR | TALEEM TdtiB5 GEFET [ H 29 W 2 164| FmtE —

761 |ERE | TFILBEM TdtiB6 IGEFET [ H 29 W 2 164| FrimtE —

762 |EARE | TALEHM T4kB7 [GEFHT | H 29 w 1 128| FiH = —

763 [+ ARE | TALEFMh ERCE [LEET [ H 29 w 1 128| #ifit = —

764 |EARE | TALBFEM T4L89 [EFHET | H 29 W 1 128] A= —

765 |tARH [TALEMM TALiB10 LB | H 29 w 2 165/ #ifit 2= -

766 |t ARH |[TALEMM ERCEN LEFET | H 29 w 2 165| HiHE —

767 |t AR# |[TALEMM FdkiB12 LEFET | H 29 w 2 165| HiHE —

768 [ ARHR | TALE[EM T4biE13 GEFET [ H 29 W 2 165| FritE —

769 [XARER | TALEEH TitiB14 [GEFET | H 29 W 2 165| FATHE —

770 |£RE | Fit:EFE# TdbE15 GEFET | H 29 W 2 165| Fit = —

771 [EARE [ TAERM T4kiB16 LEFET | H 29 w 2 165| FTHE —

772 | ARE | TAERM T4kE17 GEFET | H 29 w 2 165| FTHE —

773 |+ K& | FiLBE Tit:E18 LEFPRT | H 29 W 1 128| FAHE —

774 | RE [TALEMM TALE19 LB | H 29 w 1 128| #ifit o= -

775 | RE [TALEMM T4LiB20 BT | H 29 W 1 128| FiHE -

776 |t AR# |[TALEMM TdbiB21 [GEFET | H 29 W 1 128| #iHE —

777 [ AXRE | TAEEM TdtiE22 GEFET [ H 29 W 1 128| FrimtE —

778 | K& | TFIbBEM T4tiE23 IGEFET [ H 29 W 2 164| FrimtE —

779 [EARE | TAERM TdbiB24 [GEFHT | H 29 w 2 164 FTH = —

780 (X AT | TALEHM T4kiB25 LEFET | H 29 w 2 164| FTHE —

781 |t AR# [TALEMM TALiE26 [LEPET [ H 29 W 2 164] = —

782 |t AR [TALEMM TdbiB27 LB | H 29 W 2 164/ #ifit 2= -

783 |t ARH [TALEMM TdbiE28 B | H 29 W 2 164/ #ilit o= -

784 |EARE [TiEEMHM TAEiE29 [LEFET [ H 29 W 1 128| #ifit &= —
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2% | wm s e Mt | BRER | BE pw| mwm | wee | okw  |emw|esm| F
=1 DX
785 | KRER | hHAT WhEh | S 62 RC 3 916| Frmt = —
786 | EKER |dhdaHih h#a2 WhEm|[S 62 RC 4 1,805| $ii = — *
787 | KRE [ aFHh A3 LWhEm | S 63 RC 4 1,794| Fhit = — *
788 | RER |hHp R hHA4 LWhEm|[S 63 RC 4 1,794 Fiif = — *
789 [ KRER [ h#AS5 WbhEm|H 1 RC 4 1,196 #r = — *
790 | KRER | h A6 WhEm|H 2 RC 4 1,222 S E — *
791 [ KRE [P aF AT WhEm|H 2 RC 3 1,373| Fhit = — *
792 | RER |hHp R A8 WWhEm|H 2 RC 3 1,373| #Fhit = — *
793 | AKRER |[BHFHM FRRET WhEm|[S 32 & 1 145 A —
794 |XKRER | FRiE5 WhEh | S 36 i 1 139] A —
795 | KRE | EEHH il WhEt|[S 43 & 1 146] A —
796 | KRE [ B g4 2 LWhEm| S 43 5 1 146] A —
797 | KRE [ B My E3 LbhEm| S 43 & 1 146 A —
798 | KRE |7 B a4 4 WhZEd | S 43 [GES 1 146 A —
799 |[XKRE |7 B |y eE7 LWhEm| S 46 RC 5 1,405 A — *
800 |EARE [#E4S EMith g4 8 LWhEm|[S 45 RC 5 1348 A — *
801 |[E£AKRE |87 EMHh M4 K21 WhEm | H 19 W 2 118| FifE —
802 | AKRE | EMH 4 E22 WhZEdH | H 19 wW 2 122| $FE —
803 | AKRE |7 EMH g4 E23 WbhZEm | H 19 W 2 122 I E —
804 |t+KRE |#E7 EMHih g4 24 WWhEm|[H 20 W 2 19| FifHE —
805 |EXAKRE | EMHh Mg~ 25 LbhEm [ H 20 wW 2 118| Fhimt = —
806 |EARE [y EMM a4 26 WhEm | H 20 W 2 122| $FE —
807 |XKRE |7 EM# |y E27 WbhEm | H 20 wW 2 122| Tt E —
808 |EARER |V i WhEm|H 6 RC 4 1,342| it = — *
809 |EARE (VK FH g2 WhEm|H 7 RC 6 2,312| FTHE — *
810 [T KRE |MWViEHHh /Y iK3 WhEm|H 8 RC 4 2,144| FHTHE — *
811 [ KRE  |WViEHEHh oYK 4 WhEh|H 7 RC 4 1,977| $Aft = — *
812 |XXKRE |mVEHH EPFE WWbhEm|H 9 RC 4 2,004 FrmtE - *
813 | KL |MHEFM M1 What| S 49 RC 5 1699 A — *
814 [£ARE  |MHEMHM HHE2 WhEmh | S 49 RC 5 2266 A — *
815 |XKRE |MHEMM MHE3 WhEm|[ S 49 RC 5 2266 A — *
816 [T A% |[HHERM M4 WhEmh | S 49 RC 5 2395 A - *
817 | KRE |HHFH S5 What| S 49 RC 5 2395 A — *
818 | AKRE |MHEFM i+ EH6 WhEmh| S 49 RC 5 1,796] A - *
819 [ ARE |MHEHEIM A7 WhEm| S 50 RC 5 1892 A — *
820 [tARE |[HHERM M8 WhEm| S 50 RC 5 1892] A - *
821 [Tt XE |SikEHHh SR LWhEM | S 45 RC 4 719] A —
822 |EXAKRE [EixHih =iR2 WhEm [ s 44 RC 4 912 A —
823 |EXARE [EixHith =3R3 LWhEm| S 43 RC 4 608] A —
824 [+ KRE |SiRMEHh =ik4 WhEh | S 43 RC 4 912 A —
825 | AKRE [EixHEih =5 LWhEm | S 42 RC 4 608 A —
826 [TXRE |SikHh =iR21 LWhEm|H 15 RC 3 1,285( #iifit = — *
827 |XAZ |[SEMEH =3R22 Wh=EdH|H 19 RC 3 827| A E —
828 |XKRE |EixFih £iR2 WhEm|[ S 48 BH= 2 159] A —
829 |EKRE [£IMih £IR3 LWWhEM [ S 48 Bz 2 159 A —
830 [XARE |EIREh £IR6 LWhEm|[ S 48 fH= 2 159 A —
831 [T KRE |&IREH# 257 WhET| S 47 B 2 264 A —
832 |XXKE |EixHh £Ix8 Wh=Emh| S 47 [ 2 317] A —
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